CHRZMIE (MtHA) 900x1000

SEEE 1,510kg - - - L=2000

AonN—kavyy—+t

(& /INE50mm)

I

C HA[ZHliE (HEkr ) (10m&7f=4)
900 x 1000

LYnN—kavhy—r | oy = 18N/mt 0.450
£V — b Oy = 18N/m’ 1.980
FLE 3.000 n’
HERPRR RC-40 1.980 '

B CHREIZEQE (k)

1120
60 10 6o 60 10 60
[
|
=2 o :
° |
\ o
\ |
ey | i
— \ |
| |
h (
|
|
|
|
|
|
- 2 |
= |
S |
— |
|
|
|
|
|
|
|
|
|
|
|
|
|
|
\
S A |
2 HEaVH1)—
° m e
100 g5 900 8 100
2% 2%
1320

i 900x1000

BR 1:10

354 oM 4% 7R 118

E%) REHER

X% CH-D-T—-220711-019

FffH 4 X A3(1/10)

Hh7 7 IEHFEREH




